[Fig03] MoTs & SFRs 4 discussion || KO155 0.3.6 d13¢512 w/base Bvsb6A || FWHM=0.5dex ; AR=1.0 pix ||

SDSS stamp

O\

-y,
* o,

"_------....
~,
N,
v,
~,
g )

>,

Cumul M, [10"M ]

MoT(t) / MoT(c0)

log SFR-SD [M , /yr/kpc® ]

3.5H
3.0 —§
251

nuc
<=0.5 HLR
<=1.0HLR
> 1.0 HLR

tot
integrated

log SFR [M , /yr]

log t [yr]

0.35
0.30
0.25
0.20
0.15
0.10
0.05

10

— N wWw kA NN D RO

[\)
()]

[\
[«

15

10

25

20

15

10

MoT = M(<t)/t [M , /yr]
’ ’ ’

2.5

MoT-SD = M(<t)/t/A [M , /yr/kpc* ]

UGC03995

MoT(t) / MoT(c0)

| Asari+07 SFR-SD(1 | I : s

2.5

...................................................




